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The normal curve must be symmetrical so it now
oesinto negative values of x and the approximation
breaks down.
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‘The constraints or requirements to be able to use the.
‘normal distribution to approximat the binomial
distrbution are when o =5 and n(1—r) 5.

“That s when the expected number of successes or
failure is suffcently far from either end that we can
represent it with a symmetrical curve. You can see
why when we ignore these constzaints and plot both
a binomisl distribution and a normal distrbution
i
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“The constrants on using this approximation are that
Jambda must be over 15 (A).




